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% 7][' EE ?% ﬁ%” ﬁﬁ Modular Control Valves
MBRV %i 7][' ft 5@ }% ﬁﬁ Modular Reducing Valves

GEEESEE SYMBOL

MBRV-02, 03P MBRV-02, 03A MBRV-02, 03B

P TB A
MBRV-02-A-PSIE—HYTY
AR ERET SPECIFICATIONW
Rzt EEEREN EfgEE grne | ==

MODLE MAX. OPERATING PRESSURE ADJ. RANGE MAX. FLOW WEIGHT
PRESSURE (kgf/cm?) (kgf/cm?) (I/min) ()
MBRV-02-% 0:3~40 1:7~70 35 1.3
250
MBRV-03-% 2:7~140 3:7~210 70 3.5

HOW TO ORDER |
Wm @ ® & ® O

Zaoanon

SAB#RER SERIES NUMBER SAEEIBF 51 DIRECTION OF KNOB
A: ACI{R A Port Side
RE1R4% VALVE SIZE B: BI{RUZ#ERY B Port Side Standard Type

02:1/4" 03:3/8”

HESSHIT, KNOB TYPE
[1#5#R%% PORT NUMBER NOMARK FORK (ZEIZTAK) : ESIE@RISEE (BEms)
P:PPort A: APort B: B Port Haft Turning Knob Bolt Rod Adjust (Standard Type)

L: A7 AIZIEHAEE Inner Hexangular Bolt Rod Adjust

[EZ/J5A%EEEE PRESSURE ADJUSTING RANGE
0:3~40 kgf/cm? 1:7~70 kgf/cm?2
2:7~140 kgf/cm2 3:7~210 kgf/cm?




MBRV ____ JFC_

INsTALLATION DiMensions | (R
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MBRV
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MBRV JFC

R34 PERFORMANCE CURVES w

BIFEUHAEAE Test Fluid Viscosity :35 ¢St BIFEUHRE Test Temperature :50°C / 122°F

@® MBRV-02

[ERPRAFIEFEHR Pressure Drop

@® MBRV-03

[ERFRAFIEFEHR Pressure Drop
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FAEN = FARFEE JIFE4FIE Pressure Drop at Spool Fully Opened

FAEN = FARFEE JIFE4FIE Pressure Drop at Spool Fully Opened
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